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2. ) TYRTHFHERE, Tl ik Eukecll
Note : Question No. 1 is compulsory, answer ary FIVE questions from the remaining.
tii) o 7 & & T R O T 5 F

Solve all parts of a question consecutively together.
i) 5 S B 78 GBI FA

Start each question on fresh page.
(iv) aﬁmmﬁﬁmgﬁ#@ﬁiﬁﬁmg?m?r

Only English version is valid in case of difference in both the languages.
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Explain the followings :
Gr 7 v e e
Rigid and Elastic body

() wE Fe TR Kl
First class simple lever
Reversible machine
(iv) HIVE TG % FHET
Equations of angular motion
of 51w fagr
Principle of Conservation of Energy 2x5)
(1of4) rE1.O.
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(a) 2043 N 30° W d41d a1
(b) 24T S 45° E wrdred %W&DMM
() 10424 N 60° E gefred

(d) 30 S 60° W HHdted

Following four coplanar forces are acting at a point, Find their resultant and its
direction —

(a) 20 Newton N 30° W tension

(b) 24 Newton S 45° E compression

(¢) 10 Newton N 60° E compression

(d) 30 Newton S 60° W compression

T et 80 A /A, i 9T | 9 H AR * o °§ 30 9.4 ved @ | I
I GHIH dhel 1 aedl f4E 10 9.5, 72T 8 a1 Mot &1 a6 ! YK A & g9
a7 1 Hf |

A bullet moving at a speed of 80 cm/sec penetrates 30 cm in a wooden block. If a
similar wooden block is only 10 cm thick, then find the velocity of the bullet
atter traversing the block. - 5 (8+4)

Y& FTed ITIeTeh ! SR IUAMaT Ua Hrigueht q9emsy |
Explain the practical application and working system of a lever safety valve.

T fed HTWR 180 NR AT = 150 .. 8, v 14 8. A e Fmep @ 2|
I IAAH S BT HH F1d HIT Rraa gfzr S @ =g 9% |

A wheel weighing 180 N and 150 cm diameter rests against a brick 14 cm thick.
Find the minimum pull which may just turn the wheel over the brick. (6+6)

T ¥l 98 S et 3 Q. <ot qun 8 R, s 1 Q) sy aid 0 dee
Feh U &R L’ I 71 &7 foam 7y 3 | $H! Toed b, 71 hifr |

Letter ‘L’ is formed by welding two rectan
densities of both strips are equal. Find out ¢

=2 & T % g gaeey |

Explain Newton’s Laws of motion.

gular strips of 8 cm x 3 em. Surface
entre of gravity.

(7+5)
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% g
U 2l g A gm wn e 12,7 400, 59 W1 A, fafaas gz ztdt 4
a1 |5 vd 20 a4 o gz 24t 61 g 50 vd 75 ¥ | el grr 108,86 N g 140.62 N
# v 330 & o . 1 514 N e 2,267 N % STE AT agd § | 14 #ife

(a) weft1 %1 Faw (b) 181,44 N w3212 % ferd, ATA0% AT (c) 181,44 N w51 qofiq
#1 zaan (d) wafta F1 Afumay 2
In 2 double purchase crab, the length of handle is 38.1 ¢m and diameter of drum is

12.7 em. The numbers of teeth on pinion are 15 and 20 and on spurs 80 and 75. Efforts
[.814 N and 2,267 N are required to raise load of 108.8 N and 140.62 N respectively.

Find out

(a) Law of machine (b) Effort required to raise 181.44 N (c) Efficiency of 181.44 N
(12)

load (d) Maximum efficiency of machine.

v tenidl w1 e foasn zeanr 20,000 fem # @41 16 km/hour % a7 8 U gat foed
4 Forma geamr 25,000 foom B o farmmawen # g B, 20 2 | 59 wug @ 2 a9
a1t faad wpafera afves @ 9z 914 # | Guag % vrarg 21 fesdi 0 an s Fifo | wog @
o ifern 3ot e oft v o |

A railway coach having mass of 20,000 kg and is moving with a speed of 16 km/hour
impinges on another coach having mass of 25,000 kg and at rest. When impact occurs
the two coaches are automatically coupled together. Find the speed of the coaches after

impact. Also caleulate loss of kinetic encrgy due to impact. (12)

21w #1 wfen wa Fifed a6 v 200 m 7wl @EH A 5 4 10° kg Fren wfd
a2 1 farer w |

Find out power of an engine which can extract coal at a rate of 5 x 10° kg/hour
from a 200 m deep mine.
G wk fam 49 Nem g |4 4. faed @ 130 BB # 4.5 AR, s ded F Ry

Arava w3 1197 |

A spring is being stretched 1.4 cm by 49 N force. Determine work done required
to stretch it further by 4.5 cm, (6+6)

SN P10,

(1)



